

ROMANIAN MATHEMATICAL MAGAZINE

If $a, b, c \in \mathbb{R}$, $2^a + 2^b + 2^c \geq 3^a + 3^b + 3^c$ then:

$$a + b + c \leq 0$$

Proposed by Nguyen Hung Cuong-Vietnam

Solution by Mohamed Amine Ben jiba-Tanger-Morocco

By using the Mean Value Theorem for $f(x) = e^{ax}$ on the interval $[\ln 2, \ln 3]$, there exists $c \in (\ln 2, \ln 3)$ such that

$$\begin{aligned} 3^a - 2^a &= f(\ln 3) - f(\ln 2) = \ln\left(\frac{3}{2}\right) f'(c) = \ln\left(\frac{3}{2}\right) \cdot a e^{ac} = \\ &= \ln\left(\frac{3}{2}\right) \cdot [a + a(e^{ac} - 1)] \geq \ln\left(\frac{3}{2}\right) \cdot a, \end{aligned}$$

because a and $e^{ac} - 1$ have the same sign for all $a \in \mathbb{R}$.

$$\Rightarrow 3^a - 2^a \geq \ln\left(\frac{3}{2}\right) \cdot a \quad (\text{and analogs})$$

$$\Rightarrow 0 \geq (3^a - 2^a) + (3^b - 2^b) + (3^c - 2^c) \geq \ln\left(\frac{3}{2}\right) \cdot (a + b + c).$$

Therefore $a + b + c \leq 0$. Equality holds iff $a = b = c = 0$.